                Запиши го множеството решение на системот неравенки

Стр.157/задача 130

а) 
[image: image1.wmf]2

1

>

´

³

´


[image: image2.wmf]          б) 
[image: image3.wmf]2

1

£

´

£

´

            в) 
[image: image4.wmf]2

1

<

´

³

´

            г) 
[image: image5.wmf]2

1

>

´

£

´


   
[image: image6.wmf]M

1
[image: image7.wmf])

[

¥

+

Î

,

1

             
[image: image8.wmf]M

1
[image: image9.wmf](

)

1

,

¥

-

Î

          
[image: image10.wmf]M

1
[image: image11.wmf])

[

¥

Î

,

1

             
[image: image12.wmf]M

1
[image: image13.wmf]]

(

1

,

¥

-

Î


     
[image: image14.wmf])

(

¥

Î

M

,

2

                  
[image: image15.wmf]M

1
[image: image16.wmf](

)

2

,

¥

-

Î

         
[image: image17.wmf]M

1
[image: image18.wmf])

(

2

,

¥

-

Î

        
[image: image19.wmf]M

1
[image: image20.wmf])

(

¥

Î

,

2


     
[image: image21.wmf](

)

¥

Î

´

,

2

            
[image: image22.wmf]]

(

1

,

¥

-

Î

´

          
[image: image23.wmf])

[

2

,

1

Î

´

          
[image: image24.wmf]Ø

Ï

´


Стр.157/задача 134

[image: image25.wmf](

)

(

)

(

)

)

(

(

)

2

2

6

1

2

2

1

2

1

1

1

2

2

2

2

2

+

´

£

-

´

-

+

´

-

´

+

-

´

<

+

-

´

´



[image: image26.wmf]6

/

2

4

4

6

1

2

2

1

2

4

4

1

2

1

2

2

2

2

2

2

2

×

+

´

+

´

£

-

´

-

+

´

+

´

+

´

-

´

+

+

´

-

´

<

+

´

-

´



[image: image27.wmf](

)

(

)

4

4

3

1

2

1

2

3

1

1

4

4

2

2

2

2

2

2

2

2

+

´

+

´

£

-

´

-

+

´

+

´

-

+

<

´

+

´

+

´

-

´

-

´

-

´



[image: image28.wmf]12

12

3

1

2

3

6

3

4

4

2

2

+

´

+

´

£

+

´

-

+

´

+

´

<

´



[image: image29.wmf]1

3

12

12

2

6

3

3

4

4

2

2

-

-

£

´

-

´

-

´

+

´

-

´

<

´



[image: image30.wmf](

)

1

/

8

8

1

-

×

£

´

-

<

´



[image: image31.wmf]8

8

1

-

³

´

<

´



[image: image32.wmf]8

8

1

-

³

´

<

´



[image: image33.wmf]1

1

-

³

´

<

´



[image: image34.wmf])

[

1

,

1

-

Î

´


                                       Реши ги неравенките:
Стр.157/задача 135

a) 
[image: image35.wmf]1

1

2

3

2

1

3

2

1

<

´

<

-

-

<

´

<

-

<

+

´

<

              б) 
[image: image36.wmf]4

1

4

4

3

0

4

3

£

´

£

£

´

£

+

-

£

-

´

£

-

               в) 
[image: image37.wmf](

)

3

1

/

3

2

2

5

2

5

2

0

-

³

´

<>

-

×

£

-´

<

-

-

£

-´

<

-

£

´

-

<



[image: image38.wmf](

)

1

,

1

-

Î

´

                          
[image: image39.wmf][

]

4

,

1

Î

´

                            
[image: image40.wmf])

[

2

,

3

-

Î

´


                                 Реши ги неравенките:

Стр.158/задача 137
а) 
[image: image41.wmf](

)

(

)

0

2

2

0

2

0

4

4

2

2

2

2

<

+

´

-

´

<

-

´

<

-

´

<

´

              б) 
[image: image42.wmf](

)

(

)

0

3

3

0

3

0

9

2

2

2

£

´

+

×

´

-

£

´

£

´

-

               в) 
[image: image43.wmf]5

6

5

6

5

6

25

36

25

36

0

25

9

4

2

2

>

´

È

-

<

´

=

´

=

´

=

´

>

-

´


 
[image: image44.wmf]0

2

0

2

<

+

´

>

-

´

  
[image: image45.wmf]0

2

2

2

>

+

´

<

-

´

                
[image: image46.wmf]0

3

0

3

£

´

+

³

´

-

   
[image: image47.wmf]0

3

0

3

³

´

+

£

´

-

         
 
[image: image48.wmf]2

2

-

<

´

>

´

    
[image: image49.wmf]2

2

-

>

´

<

´

                   
[image: image50.wmf](

)

3

1

/

3

-

£

´

-

×

-

³

´

-

               
[image: image51.wmf]÷

ø

ö

ç

è

æ

¥

È

÷

ø

ö

ç

è

æ

-

¥

-

Î

´

,

5

6

5

6

,


                                             
[image: image52.wmf]3

3

-

£

´

£

´

      
[image: image53.wmf]3

3

-

³

´

³

´



[image: image54.wmf]Î

M

,

ø   
[image: image55.wmf]M

2
[image: image56.wmf](

)

2

,

2

-

Î

               
[image: image57.wmf](

]

(

]

[

)

¥

+

È

¥

-

Î

´

M

È

M

Î

´

-

¥

-

Î

M

3

3

,

3

,

2

1

1

    
[image: image58.wmf][

)

¥

+

=

M

3

2

                                                     
[image: image59.wmf](

)

2

,

2

2

1

-

Î

´

M

È

M

Î

´


Стр.159/задача 140

а) 
[image: image60.wmf](

)

1

/

0

1

1

2

3

1

1

2

3

+

´

×

<

-

+

´

-

´

<

+

´

-

´

 

[image: image61.wmf](

)

0

1

1

2

3

0

1

1

2

3

<

+

´

-

´

-

-

´

<

+

´

+

´

-

-

´



[image: image62.wmf]0

1

0

3

2

0

1

3

2

>

+

´

<

-

´

<

+

´

-

´

               

[image: image63.wmf]1

2

1

1

-

>

´

<

´



[image: image64.wmf]÷

ø

ö

ç

è

æ

-

Î

M

2

1

1

,

1

1

                         
[image: image65.wmf]Î

M

2

Ø               
[image: image66.wmf]÷

ø

ö

ç

è

æ

-

Î

´

2

1

1

,

1


б) 
[image: image67.wmf](

)

0

4

7

4

0

4

8

2

1

2

4

/

0

2

4

1

2

2

4

1

2

>

-

´

-

´

>

-

´

-

´

+

+

´

-

´

×

>

+

-

´

+

´

-

>

-

´

+

´

                              


[image: image68.wmf]4

4

7

0

4

0

7

4

>

´

>

´

>

-

´

>

-

´

              
[image: image69.wmf]4

4

7

0

4

0

7

4

<

´

<

´

<

-

´

´

<

-

´


    
[image: image70.wmf](

)

+¥

Î

M

,

4

1



[image: image71.wmf]÷

ø

ö

ç

è

æ

¥

-

4

7

,

       


[image: image72.wmf](

)

÷

ø

ö

ç

è

æ

¥

-

È

¥

+

Î

´

4

7

,

4

          
[image: image73.wmf]

 EMBED Equation.3  [image: image74.wmf]
                                                       Изработил:  Бојан Ивановиќ  I-7 
_1211201271.unknown

_1211207127.unknown

_1211208238.unknown

_1211226575.unknown

_1211227116.unknown

_1211227880.unknown

_1211228319.unknown

_1211228372.unknown

_1211228412.unknown

_1211228065.unknown

_1211228146.unknown

_1211228017.unknown

_1211227527.unknown

_1211227588.unknown

_1211227201.unknown

_1211226843.unknown

_1211227008.unknown

_1211226722.unknown

_1211208941.unknown

_1211209729.unknown

_1211210053.unknown

_1211209593.unknown

_1211208509.unknown

_1211208682.unknown

_1211208730.unknown

_1211208607.unknown

_1211208323.unknown

_1211207525.unknown

_1211207986.unknown

_1211208120.unknown

_1211207852.unknown

_1211207379.unknown

_1211207428.unknown

_1211207476.unknown

_1211207307.unknown

_1211203279.unknown

_1211206362.unknown

_1211206723.unknown

_1211206766.unknown

_1211206673.unknown

_1211206127.unknown

_1211206233.unknown

_1211203435.unknown

_1211202822.unknown

_1211203096.unknown

_1211203183.unknown

_1211202993.unknown

_1211201991.unknown

_1211202776.unknown

_1211201467.unknown

_1211139110.unknown

_1211200353.unknown

_1211200587.unknown

_1211200818.unknown

_1211200411.unknown

_1211200297.unknown

_1211200316.unknown

_1211200271.unknown

_1211139121.unknown

_1211135767.unknown

_1211139077.unknown

_1211139093.unknown

_1211139101.unknown

_1211139084.unknown

_1211136266.unknown

_1211139041.unknown

_1211139066.unknown

_1211136380.unknown

_1211135916.unknown

_1211135266.unknown

_1211135344.unknown

_1211135539.unknown

_1211133884.unknown

_1211134175.unknown

